JL_

3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
1
1) 492 2) 128 3) 646 4 516
-223 -119 -631 -_345 2
3.
4.
5 902 6 247 7 992 8 978 >
- 495 -187 - 903 -_E 5
7.
8.
9 612 100 134 11) 618 12) 255 J
- 294 -108 -123 - 185
~Yo — 10.
11,
12,
13) 696 14) 743 15 188 16) 850 13
-116 -451 -111 -776
o 14.
15.
16.
17) 769 18) 634 199 381 200 751 17
- 340 - 269 - 330 - 737
18,
19,
20.
110 |95]90]85] 80| 75] 70] 65] 60| 55] 50
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3 Digit Minus 3 Digit Name: Answer Key
Use subtraction to solve the following problems. Answers
1 269
1) 492 2) 128 3 646 4 516
-223 -119 - 631 ;345 2. 9
269 9 15 171
3 15
4 171
5 902 6) 247 N 992 8 978 > 407
- 495 - 187 - 903 - 223 . 60
407 60 89 755
7 89
8. 755
9 612 10 134 11) 618 12 255 J 318
- 294 -108 -123 - 185
— — 10, 26
318 26 495 70
11 495
12, /0
13) 696 14) 743 15 188 16) 850 13 580
-116 -451 -111 ;776
580 292 77 74 14. 292
15, 77
16, 4
17) 769 18) 634 19 381 20 751 o 429
- 340 - 269 - 330 - 737
429 365 51 14 18. 365
19, ol
20, 14
110 [95]90] 8580 75] 70| 65] 60 ] 55 | 50
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Cﬂ2—1 3 Digit Minus 3 Digit

Name:
Use subtraction to solve the following problems. Answers
15 9 89 77 318
292 70 580 26 171 1
495 269 755 407 60
2,
1) 492 2 128 3 646 3
-223 - 119 - 631
- 4,
5.
6.
4 516 5 902 6) 247
- 345 - 495 - 187 7.
8.
9.
) 992 8 978 9 612 10.
- 903 -223 - 294
B — — 11.
12,
13.
100 134 1) 618 12) 255
-108 - 123 - 185 “’
15.
13) 696 14) 743 15 188
- 116 - 451 - 111
M odified 1-10 | 9387|8073 67]|60] 53] 47[40]33]
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